## Serial Number Window: Z8RZ07183

## Build Date 22/Oct/2008

×	Technical Type	696004322 - MX275, 4WD CAB TIER 3
×	Variante	420529000-DRAWBAR, HEAVY DUTY
×	Variante	420049000-CAB, NORTH AMERICA LUXURY
×	Variante	420804000-AM/FM/WB RADIO - NAO
×	Variante	420268000-NAO LEATHER/HTR SEAT
×	Variante	420811000-STANDARD MUFFLER
×	Variante	429307000-CODI DISPLAY MOUNTING KIT
×	Variante	420820000-EXTERNAL MIRRORS,REMOTE WIDE A
×	Variante	420829000-HYDRAULIC RETURN
×	Variante	420099000-BEACON LIGHT RH/LH - EUR
×	Variante	420794000-40KPH TRANSMISSION REDUCED RPM
×	Variante	846645400-D 480/80R46 R1 W/16X46 FS NAO
×	Variante	420301000-STD FLOW HYD SYSTEM
×	Variante	420783000-GUIDANCE READY,STD 12BOLT AXLE
×	Variante :	420787000-CAB ISO11783
×	Variante	420823000-TRUE GROUND SPEED SENSOR
-		

×	Variante	420014000-PERFORMANCE INSTRUMENTATION
×	Variante	420990000-NO TIRE BRAND PREFERENCE
×	Variante	420026000-WORKLIGHTS- HAL CAB/HAL BELTLI
×	Variante	420826000-MONITOR MOUNTING
×	Variante	420306000-FUEL TANK - 180 GAL.
×	Variante	420334000-SMALL FRAME, 6 WTS, 1000
×	Variante	420362000-2.55 WIDE REAR FENDERS
×	Variante	
×	Variante	420519000-3PTH SOLID BALL EDC- 5900KG
×	Variante	420701000-NORTH AMERICA
×	Variante	887645700-D 380/85R34 R1 W/13X34 FS NAO
×	Variante	429175000-DUAL SPEED PTO
×	Variante	
×	Variante	420218000-AXLE, 120-4INCH
×	Variante	420874000-BLOCK HEATER NAO
×	Variante	420223000-FRONT AXLE HEAVY DUTY 40KPH
×	Variante	420235000-MFD NARROW FENDERS
×	Variante	420402000-4 CIRCUIT REMOTES W/FLOW CNTL
×	Variante	DEFAULT_24-NO SELECTION

×	Variante	DEFAULT_471-NO SELECTION - PARTS INCLUDED
X	Engine Serial Number	46952117

3105 Eagle Avenue Rock Valley, IA 51247 www.townandcountryimpl.com



Description

Phone: 712-476-2731 Fax: 712-476-5338

> RO: 42043R Invoice: 53253R

Date: 03/14/2024

DAVE HULSTEIN 2630 180TH ST

**ROCK RAPIDS 51246** 

OpCode

Cond

Year	Make/Model		Serial Number Z8RZ07183				
20	08 CIH 275						
Stock No	PO	Hours	Tag	Customer	Telephone		
45678			NA	13061	712-472-3061		
	Quantity	List	T N	let	Total		

Туре:	TRACTOR	RO Open Date:	02/05/24	Meter In:	2795			
001	SERVICE INSP	ECTION						
	C SERVICE INSPECTION							
	F 2795 HOURS							
		ND BROUGHT INSIDE						
	DRAINED ENG	NE OIL, CHANGED EN	GINE OIL AND FI	ILTER				
		5 DRAIN PLUGS FOR						
	TRANS FILTER							
	FILLED HYD O	L	-					
	CHANGED FUE	L FILTER						
	CHANGED WA	TER SEPARATOR						
	CHANGED CAR	BIN AIR FILTER						
	CHANGED CAR	BIN RECIRCULATION F	ILTERS					
	CHANGED INN	ER AIR FILTER						
	CHANGED OUT	TER AIR FILTER, CUST	OMER HAD ONE					
	CHANGED CO	DLANT FILTER						
	CHANGED OIL IN FRONT HUBS							
	CHANGED OIL	IN FRONT PLANETAR	Y					
	WENT THROUG	SH INSPECTION						
	CHECKED ALL FUNCTIONS							
	FOUND HOOD SHOCKS DIDN'T HOLD THE HOOD ALL THE WAY OPEN,							
		NGINE OIL PAN WAS J		O SEEP, NO DRIPS				
		ILL LEAK SO DIDN'T F						
		POINT MOUNTING BOI	TS WERE LOOS	E UNDER THE TRACT	OR,			
	TIGHTENED TH							
	FOUND THE WATER PUMP WAS LEAKING							
	FOUND EXHAUST MANIFOLD SHIELD WAS LOOSE, BOLT FELL OUT, PUT A							
		PLACE TO HOLD SHIE						
		ADIATOR HOSE WAS R	UBBING ON THE	FAN SHROUD AND I	T			
	ABOUT RUBBE							
		RANK SLOWLY WHEN				_		
		RGER ON IT, DISCONN						
		THEM, THEY WERE B	AD BUT CHARGE	ED THEM UP SO IT WO	DULD			
	STILL START							
		AVE THE GO AHEAD O				_		
		D HOOD SHOCKS OFF						
		ALL THE COOLANT O						
		E UPPER RADIATOR H	OSE THAT WAS	ALMOST WORN THRO	DUGH			
		D WITH A NEW ONE						
		NSION LOSE FROM TH	IE BELT ON THE	FRONT OF THE ENGI	NE			
	AND REMOVED							
		D WATER PUMP OFF				_		
	-PUT THE NEW	WATER PUMP BACK	ON WITH A NEW	SEALING O-RING AN	D			

3105 Eagle Avenue Rock Valley, IA 51247 www.townandcountryimpl.com



Description

Phone: 712-476-2731 Fax: 712-476-5338

> RO: 42043R Invoice: 53253R

Date: 03/14/2024

DAVE HULSTEIN 2630 180TH ST

**ROCK RAPIDS 51246** 

OpCode

Cond

Year	Make/Model		Serial Number				
20	008 CIH 275		Z8RZ07183				
Stock No	PO	Hours	Tag	Customer	Telephone		
45678			NA	13061	712-472-3061		
	Quantity	List	N	let	Total		

	THE BELT ON AND TENSION THE BELT							
	-FILLED UP THE TRACTOR WITH COOLAN							
-AFTER CHARGING BOTH BATTERIES OVER NIGHT TOOK THE BATTERIES								
	OUT OF THE TRACTOR AND BROUGHT TO PARTS TO GET TESTED							
	- BATTERIES ARE RATED AT 950 CCA. 1ST BATTERY HAD 400 CCA AND							
	SECOND BATTERY AT 450 CCA							
	-PUT THE NEW BATTERIES IN THE TRACTOR AND PUT THE BATTERY COVER							
	BACK ON							
	-RAN TRACTOR AND CHECKED FOR ANY I	EAKS AND DID NOT FIND	ANY					
	-BROUGHT TRACTOR TO THE WASHABY A	AND SPRAYED IT OFF WHE	RE OIL					
	WAS SPILLED							
	-LET TRACTOR GET UP TO OPERATING TE	MP AND CHECKED FOR LE	EAKS AND					
	DID NOT FIND ANY							
	-PARKED TRACTOR FOR CUSTOMER PICK	UP						
CL	L CUSTOMER LABOR			1450.00				
	CUSTOMER LABOR							
	P BF1385-SPS FUEL/WATER	1.00	40.40	40.40				
	FUEL/WATER SEPARATOR SPIN-ON WITH	DRAIN, SENSOR PORT AN	D RE					
	P 84476647 FILTER	1.00	74.40	74.40				
	INNER AIR FILTER MX 215,245,275,305 & EARLY MAGNUM 215,245,							
	P 293615A1 FILTER,MX2	2.00	40.70	81.40				
	FILTER,MX240 CAB REC							
	P 51508555 FILTER HY	1.00	114.00	114.00				
	FILTER HYDRAULIC OI							
	P 48142231 FILTER HY	1.00	86.50	86.50				
	FILTER HYDRAULIC OI							
	P 84605017 FILTER,WAT	1.00	21.00	21.00				
	WATER FILTER							
	P 84301243 FILTER, EN	1.00	99.75	99.75				
	FILTER, ENGINE OIL							
	P 84477358 FILTER, FU	1.00	30.50	30.50				
	FILTER, FUEL							
	P 87684088 FILTER, EL	1.00	56.43	56.43				
	FILTER, ELEMENT	1100	30	001,10				
	P 73344316 OIL HYDRA	4.00	30.25	121.00				
	OIL HYDRAULIC	1100	00.20	121100				
	P 87386500 GAS STRUT	2.00	95.75	191.50				
	GAS STRUT	2.00	00110	101100				
	P 73344410 ANTIFREEZE	3.00	31.00	93.00				
	ANTIFREEZE 50/50	0.00	01.00	30.00				
	P 84246483 HOSE	1.00	153.05	153.05				
	HOSE	1.00	100.00	155.05				
	P FREIGHTIN FREIGHT	1.00	23.56	23.56				
	FINLIGHTIN FINLIGHT	1.00	20.00	23.30				

3105 Eagle Avenue Rock Valley, IA 51247 www.townandcountryimpl.com



Phone: 712-476-2731 Fax: 712-476-5338

RO: 42043R

Invoice: 53253R

Date: 03/14/2024

DAVE HULSTEIN 2630 180TH ST

**ROCK RAPIDS 51246** 

Year	Make/Model			Serial Nu	mber		
20	008 CIH 275		Z8RZ07183				
Stock No	PO	Hours	Tag	Customer	Telephone		
45678			NA	13061	712-472-3061		
	Ougatitu	Lint		lot I	Total		

				450/8			NA	13061	112-412-3001
Cond	OpCode	Т	Description		Quantity	List	Ne	et	Total
		P 87453208F	R REMAN-WATE		1.00		,	191.00	191.00
		P CORES: C	ore Chrgs		1.00			25.00	25.00
		P 874532080	CORE-WATER		1.00			-25.00	-25.00
		REMAN-W	ATER PUMP						
		P BMF31GW	12V 1000CC		2.00		•	183.24	366.48
		P CORES: C	ore Chrgs		2.00			21.00	42.00
		P SCRP3 CC	RE		2.00			-21.00	-42.00
		12V 1000C	CA 36MO						
		P 73344237	15W40 BULK		6.50			16.70	108.55
		15W40 BU	LK						
		P 73344270	HYTRAN		45.00			18.70	841.50
		BULK HYT	RAN						
		P 73344317	85W140 5GA		1.00			140.00	140.00
		85W-140 G	EAR OIL						
		O HRD HERI	TAGE EQUIP DISCOUNT		11.00			-20.00	-220.00
					Subtot	al charge	s this se	ection	4064.02
		M SHOP SU	PPLIES						31.85

THANK YOU FOR YOUR BUSINESS

**CHARGE 13061** 

4273.25

I hereby authorize the above repair work to be done, along with necessary materials. You and your employees may operate above vehicle for purposes of testing, inspection, or delivery at my risk. An express mechanic's lien is acknowledged on above vehicle to secure the amount of repairs thereto. You will not be held responsible for loss or damage to vehicle or articles left in vehicle in case of fire, theft, accident, or any other cause beyond your control. "By signing, I certify that I am authorized to use this Account, to sign this receipt, and that I agree that the total amount of this invoice is repayable in accordance with the Credit Agreement applicable to to the Account".

DESC	TOTALS
LABOR	1450.00
PARTS	2834.02
SUBLET	
MISC	31.85
OTHER	-220.00
SUBTOTAL	4095.87
TAX	177.38
TOTAL	4273.25